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SECTION A

ANSWER ALL 10 QUESTIONS IN THIS SECTION
1. Evaluate 9+ 12+4—-2x5

-----------------------
----------------------
...............................................................................................

R e A L L O

(4 marks)
2. a) Express 125 as a product of its primes
b) Hence, find the cube root of 125
c) Find the L.C.M of 18 and 24
.................................................................... Jpaai
3. Given two statements p and g. Draw a truth table for ~ PA ~ q, using T for True and F for False.
(5 marks)
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4. Given that R is 30km East of P and Q is 40km South of R.

Calculate:
(a) the distance PQ
(b) the angle QPR _
(4 marks)
; r 1 31
5. Given the matrices P= and Q=
: 4)- 24
Find:
(@) P-Q
(b) 2P +Q.
(5 marks)
6. A bag contains 6 black pens and 4 red pens. Given that a pen is chosen at random from the bag.
Find the probability that;
a) the pen is red
b) the pen is either red or black.
(5 marks)
Turn Over
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7. Inanetwork, two roads link town A to town B, one road links town A to town C a

B to town C

Find the number of:
a) nodes (towns)

4

nd two roads link town

-----------------------------
LT
.

--------------------- prgeweesreeey
...........................
----- deesvsvee o---a--oon.---a--.c-u---o-o-n...,,'"."
------------------------ '----o.--..o-cauulc-uu-cuococ--n--lc--c--.'no--n---ll""'
b) arcs(roads)
...............
VeRsLIBLIESIENRINRIITRTITS eveevesnnne GO0 EOeITERNETE esseevecene desssssossseuesonssse oo %
...... ll.lol'l---dllvocnllo".-.l-""l.-ntcnnoov'louun.._"
....................................................
¢) regions’
......... cna---u---vo--'----------o-.o----v--u..,,."
"""""""""""""""""" v-----c---‘|---lu'-uuou-lc--.a-u-c.-.----l-c-on..-v----o.nnnc
.......
..........................................

(4 marks)

8.

9

In a cyclic quadrilateral, ABCD, AC is a chord. Given that angle ABC = x is opposite to an

gle ADC = 94" and

.......................................
---------------------------------------------------------------------------------------------------

--------------------------------
------------------------------------------------------------------------------------------------------------

that angle CAD = 46° while angle ACD =y. Find angle:
a) x
b) vy

------------------------------------------------------------------------------------------------------------------------------------

...........................................................................................................................................

Given the vector diagram in figure 4, PQ=d, RQ=c,

T—PzP_Q‘ and
M is the mid-point of ﬁ{.

Find the vector: Figure 4
a) PR
b) PM
(4 marks)
00/0570/2 Go on to the next page



10. Given the gecometric sequence: 3, 9, 27, ...
Find:
a) the common ratio

L R N R N R R R R RN

b) the sum of the first three terms.

L T R R R I R AR R
i

R P T T TR 80 000000000000 0000000000808 0000000000000erse0s000isorenerssrINarero0enerIssseasleleeersssssesRerseRsssIseRsIIIIES
R R R R L R

D I R R R ]

(5 marks)

Turn Over,
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SECTION B

ANSWER ALL FOUR QUESTIONS IN THIS SECTION.
EACH QUESTION CARRIES 15 MARKS

Question No. 1

i) A palm wine seller buys overnight palm wine at 200 FCFA per litre and fresh palm wine % 400 FCFA a litre, He‘mi)ces
the overnight palm wine and fresh palm wine in the ratio 2 : 3 before selling to customers. Given that he sells 109 litres of

the mixture daily at 500 FCFA per litre.
Find:

(a) the number of litres of fresh palm wine in the mixture that he sells daily.
(b) the total cost of 100 litres of the mixture.
(c) his daily percentage profit.

ii) The polynomial f{ x ) is given as fix)=x’+x*-4x-4.
(@) Show that (x — 2) is a factor of f(x ).
(b) Factorize f{ X ) completely.
(¢) Hence, solve the equation f(x)=0 .

....................................................................................................................

---------------------------------------------------------------------------------------------------------------------------------
---------------------------------------------------------------------------------------------------------------------------------
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
...............................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................
.................................................................................................................................
.................................................................................................................................

----------------------------------

--------------------------------------------------------------------------------------------------------------------------------

.
--------------------------------------
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Question No. 2

i) The scores of students in an examination are recorded as follows

Score (x) Frequency (f)
8-12 6
13-17 8
18 ~22 12
23-27 8
28-32 6

State:

(a) the number of classes or intervals in‘the distribution
(b) the upper limit of 23 - 27 . \
(¢) the lower and upper class boundaries of 13 — 17
(d) the modal class
find: '
(e) the total number of students who wrote the examination
(f) theclass mark of the class 18 — 22.

(10 marks)
i) In a certain class of 40 students, where they speak both English and French,
18 students speak English (E) only .
10 students speak French (F) only
3'" do not speak neither English nor French
By drawing a Venn diagram or otherwise,
Find the number of students speaking both English and French
SUTRTR. ORI 9 D TERERTS (5 marks)
................................................................................................................................. Do not
....... write
T s LT T & this
.......................................................... margin
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Question No. 3

i) Given the functions fand g such that /': x > 2x + 3andg: x = x — 1.
Find,
a) f(-2)
b) g'(x)
) J2(x)
d) the value of x, for which f(x) =g (x). ‘ (10 marks)

ii) Using only a pencil, ruler.and a pair of compasses,
a) DrawthelinePQ=6em y o
b) Construct the pe1~pe11dicular bisector of PQ to meet PQ at M
¢) Draw the line PS = Scm, where S is a point on the perpendicular bisector

(5 marks)

...... Do not
o write

............................. R R Ry P PR PR PR PR PR TR PR ALY PRRRRRERRRREXLRLLALELSLARERSA A on this

margin
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Question No. 4

(i) Given the function f(x)=x*—-3x—4, for —2<x<5:

(a) Copy and complete the following table

X -2 -1 01 2 3 4 5
y=ftx) 4

By drawing a graph of y = f(x) using lem to represent 1 unit on both axes or otherwise,
(b) Find the minimum value of y = f(x) and the corresponding value of x.
(c) Solve the equation f(x) =0

, . R4 T T % WO : .
(ii) Given a 2 x 2 matrix, P defined by P = (k 6 ] , where, £ is a constant,

(a) Find P when k=2, R
(b) Hence or otherwise, find Adj. P, the adjoint of P.

---------- LR R R T R T T P T T T P PR T Y F Y N N TN
................... R R R R R R TR PR T P R R P PRy PR F R R R E R RN Y RN
----------------------------------------------- L R R AR AN
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